
Addition de Coeurs Doux (C)
Quelle est la valeur de chaque doux coeur?

67 + # = 156 , + 53 = 145

41 + % = 53 . + 97 = 110

25 + ^ = 124 < + 68 = 131

65 + ( = 133 = + 71 = 117

76 + _ = 149 ~ + 94 = 122

84 + $ = 132 ? + 73 = 144

74 + & = 170 - + 10 = 69

44 + + = 108 > + 78 = 109

41 + * = 124 / + 26 = 116

50 + ) = 137 ` + 52 = 90
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Addition de Coeurs Doux (C) Réponses
Quelle est la valeur de chaque doux coeur?

67 + 89 = 156 92 + 53 = 145

41 + 12 = 53 13 + 97 = 110

25 + 99 = 124 63 + 68 = 131

65 + 68 = 133 46 + 71 = 117

76 + 73 = 149 28 + 94 = 122

84 + 48 = 132 71 + 73 = 144

74 + 96 = 170 59 + 10 = 69

44 + 64 = 108 31 + 78 = 109

41 + 83 = 124 90 + 26 = 116

50 + 87 = 137 38 + 52 = 90
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